timate dccsde II°

The Ulimate Gaming Experience

= = Hlustrated Step-by-step plans
Full-size cutout termplates
-_— - s

I § A
¥ . L

g

www.MameRoom.com

Ultimate Arcade I .

Hustrated Step-by-step plans
== Full-size cutout templates

1 i

www.MameRoom.com

Virtual Music Jukebox
T —

Illustrated Step-by-step plans
= Full-size cutout templates

www.MameRoom.com

i.lltimate Arcade Cockpit .

Hiustrated Step-by-step plans
Full-size cutowt templates

www.MameRoom.com

The MameRoomM.com is the
online resource for custom arcade and
jukebox enthusiasts. Whether you are
an experienced cabinet builder or just
starting out, the MameRoom offers
fully illustrated, step-by-step
construction manuals and kits that are
easy to understand and follow.

Locate video arcade games, mame
roms, and other free games...

Links and information on custom
gaming equipment, manufacturers,
and pre-built cabinet vendors...

Custom gaming and jukebox related
software to enhance any gaming
system...

Online community and resource center
to communicate with other gaming
enthusiasts...

For more information please visit:

www.MameRoom.com



Litimate Arcade

By CyberTech Design

www.cybertechdesign.net

|. Disclaimer

While the information provided in this document is believed to be accurate, it may include technical inaccuracies or typographical
errors. CyberTech Design does not guarantee satisfactory results from reliance upon any such information, and disclaims all
liability for loss or damage of any kind arising out of its use. The information contained within this document is for the construction
of the Ultimate Arcade Il “cabinet” and does not include information on electrical components. Please refer to the equipment’s
installation manual for assembly/installation procedures.

This publication is provided "AS IS" and CyberTech Design does not MAKE ANY EXPRESS OR IMPLIED REPRESENTATION
OR WARRANTY AS TO THE FITNESS, MERCHANTABILITY OR ANY OTHER MATTER WITH RESPECT TO THE
PRODUCTS, PROCESSES OR EQUIPMENT OR ANY MANUFACTURER OR SUPPLIER REFERRED TO HEREIN, OR ANY
PRODUCT OR EQUIPMENT MANUFACTURED, PRODUCED OR SOLD BY ANY SUCH MANUFACTURER OR SUPPLIER,
whether used alone or in combination with any other product, materials or equipment.

Before adopting any of the recommendations or suggestions contained herein, we urge you to determine for yourself whether the
advice or procedures should be adopted for your use. Nothing contained herein is to be construed as a recommendation to use
any information, product, process or equipment in conflict with any patent trademark.

The information (including, without limitation, the photographs and artwork) contained in this document may not be distributed,
modified, reused, reposted, or otherwise used without the express written permission of CyberTech Design.

Il. Before you begin

It is highly recommended that you measure all doorways and stairways leading to where your Ultimate Arcade cabinet will be
placed. Be sure to read through this entire document before assembly.

IMPORTANT: REMOVE TELEVISION OR MONITOR BEFORE TRANSPORTING THE ULTIMATE ARCADE CABINET. The assembly of the Ultimate Arcade
cabinet requires two or more people. Never work alone. The fabrication and assembly of the Ultimate Arcade cabinet requires a basic knowledge of power tools
and woodwaking skills.

[ll. Tools required

Please use safety goggles when cutting materials and during assembly.

a Electric router

a Circular saw/Jig Saw

a Drill Bits (3/8”, 1/8”, 1/16", 2" hole saw)
a 3/8” Drill Bit Stop Collar

a Paint roller

a Paint tray

a Screwdriver (Phillips)

a Tape measure/ruler

a Pencil / Pen

a 1/16" slot cutting router bit
a Laminate cutting router bit
a Caulk gun

a J-Roller (Rubber roller)



Materials List

NOTE: Additional fasteners may be required for assembly if not included in hardware packages. The following list is a “base” list for the
construction and assembly of the cabinet only. Additional materials will be required for hardware and equipment installation.

| TEM Qry PART NUMBER DESCRI PTI ON

| TEM 1 (3)  emeeeeeeae 5/8" NDF or particle board (4 x8")

| TEM 2 [ I 2.5" x 3" Steel brackets

| TEM 3 (16)  ememeee---- 1/2" Phillips head wood screws

| TEM 4 (28 e 3/4” Phillips head wood screws

| TEM 5 (12) e 1” Phillips head wood screws

| TEM 6 (62)  ememeeee-- 1-3/8” Phillips head wood screws

| TEM 7 [ I Liquid nails or black caul k

| TEM 8 (1)  meeeeeee--- Mai | box key | ock 3/4”

| TEM 9 () I Bl ack form ca countertop lam nate (4’ x8)

| TEM 10 [ I Lam nate adhesive (1 quart)

| TEM 11 [ I 18" Fluorescent lighting fixture wlight

| TEM 12 (2)  eeemeeeeee Pl exi gl as sheet (Wdth of nonitor opening x 7-7/16")
| TEM 13 (1)  eeemeeee- Pl exi gl as sheet (Wdth of nonitor opening x 257)

| TEM 14 [ I 12" Drawer slide rails

| TEM 15 (D) 49-1000- 00 Mar quee retai ner (ww. happcontrol s.com

| TEM 16 (43 FT) 49-0999- 00 T Mol ding 3/4” snoboth black (www. happcontrols.con
| TEM 17 (1) 40- 0325- 00 4- Pl ayer coi n door (www. happcontrol s. com
| TEM 18 (1) 49-0123- 00 Bezel , Monitor F/ 25" bl ack (www. happcontrol s. com

49-0106- 00 Bezel, Monitor F/ 27" bl ack (www. happcontrol s. com



Cabinet Details

NOTES: All dimensions have a tolerance of +/- 1/16”
WIDTH = Maximum monitor area width (25” standard)

2'-4 BslE" [715]

L=l SALET [56F] =

|——L--r [40E]—=

T

78"
2311

|

a" (2033

L3231

£ 1747 _‘I
L1

Fal 1447
3371

p—2'-2' [Eal]——

f=WIOTH = L 1/4% [EE]=ed

PAMEL &

2La”

WIOTH
S 1Ae 5 15167
czz1 | |"" 1291 7| ™ |
B
o ; - 1 B aae
PAKEL N lr&r" 1- L2l
45 34
1365
3=1 347
=t |
I
4 1/9*
[10%]
1
g
s — A
i - wIDTH = 1 1780 1223 '-.__
.l' Ny
! e W1
I 45* 1' 1__‘
i PAMEL. © 3[2,33; 3
If | -
-‘_.-"
y 2as e
i J__f’
.{.f'
z - i -~ 5"
|-—~JII:ITH L 174 l.__-lE“:I—l-I P _fE
PANEL E '-1'-'*
E -
2om LT ” 1 i
(8451 3160 |oig megar
RLe [RES] =5 5421
vl ) |
[
|
Lo=11/18" B
- ey (1851

|—IU.~']I:|TII = 17 1171e* 322D /S 2

e WIDTH — 1 154" [321—=]1 1/8r
[E5] s
PAHEL O
I |"_L {""CI
g |
s lig
-1t (8361 e
FANEL 0 (HAKE & t
="
'rr'
F
WIOTH i EM
v-8 L2
FAREL (5211
¥ I
WIOTH = I L#4° [32]—= o]
. FAHEL F )
3
!
o WIOTH = 1 1/8* [52]-w] 3%? 5
L L
FaHEL [ [HAKE =) h, U
]
b WIDTH = 1 174" [3E1-= 2 144"
x WINTH # 2 = 571
\ i £}
—r
i r L |
PANEL D, o
244410 SLOT [zE]
[19R25]
o WIDTH - 1 18" [22]—=]
Lt
FAMEL E E‘F & 1E
ST —

-

WIDTH = & 144" [37] i-'—

PAREL F

T

-1 et
[323]

Full-Size Cutout Templates Available!
Simply lay on top of the wood material and cut.

- No measuring required!
- Eliminate costly mistakes
- Save time and money

Please visit the www.mameroom.com website for details.




Cabinet Details

NOTES: All dimensions have a tolerance of +/- 1/16”
WIDTH = Maximum monitor area width (25” standard)

1'-9 11/16° [S511

|
[e————3'-5 1/2" [054]——— WIDTH |
fe——2'-3" [6B6] ———
8 1/2* [216]
FANEL K 10 5/16" [262]
WIDTH
-2 1/16" [967] PAMNEL L
2'-9 5/16" [B46] 2'-10 3/8* [873]
g2'-g 7/8" [682]
1'-8 7/8* [S30]1 1
11 /2
[252]
WIDTH
37 [7el l
|
a— e 1 R il 1 P o
PANEL M 1 [3051

*=WIDTH - 1 1/4* [32]—+

FANEL H

11 3/4* [294]

=WIDTH - 1 1/4" [32]1—

t

r FAMEL G

2 9/16" [64]

Full-Size Cutout Templates Available!
Simply lay on top of the wood material and cut.

- No measuring required!
- Eliminate costly mistakes
- Save time and money

Please visit the www.mameroom.com website for details.

'f



/
1/8* [3]
DIA THROUGH

1) First locate the center of the hole and drill
1/8” hole through the material.

Countersinking Holes

To create a countersunk hole, first locate the center of the hole. Using an 1/8” diameter

drill bit, drill a hole through the wood panel as shown in the diagram to the left. Then
use a 3/8” diameter drill bit and drill bit stop collar set to ¥4” deep to create the
countersunk hole.

1744 [6]Lf

_'_,_,_,-'-""
3/8* [10]
DIA
4 L&) 1/8% 3]

DI& THROUGH

2) Attach a drill bit stop collar ¥4” in from
the tip of the 3/8” drill bit.

4) Above shows a cross section
view of the countersunk hole.

3) Using the existing hole as a guide, countersink
Y4” deep with a 3/8” drill bit.

Installing Laminate

For countertop laminate, cut the laminate 2" larger all the way around the piece being
laminated. Apply laminate cement on both pieces using a paint roller and allow to dry.
Do not let sit for more than %2 hour. Place wood dowels or thin wood strips between
the laminate and wood pieces. This will allow you to maneuver the laminate piece
without touching the wood piece. Once the two cemented pieces touch each other,
they will be permanently glued together. Once the laminate is in place (with ¥2” lip all
the way around), start at one end/corner and press the laminate into place using a J-
roller. As you work your way to the opposite end of the piece, pull out the wood

Cut the laminate ¥2” larger (all the way around)
than the piece being laminated. Apply
laminate adhesive to both the wood and the
laminate where the two pieces will mate.

dowels or strips one at a time while pressing and rolling the laminate. This will prevent
air pockets. Trim off excess laminate using a router and laminate bit.

Place wood dowels or thin wood strips between
the laminate and wood pieces.

Start at one end/corner and press the laminate
into place using a rubber J-roller. As you work
your way to the opposite end of the piece, pull out
the wood dowels or strips.

Trim off excess laminate using a
router and laminate bit.




one or more edges.
drawer cover panel)

laminate.

Step 1 cutting cabinet panels

Use the material layout and cabinet detail drawings to layout and
cut all of the cabinet pieces from the 5/8” x 4’ x 8’ wood sheets.
Before cutting out the cabinet side panels, drill the two 2”

diameter holes as specified in the cabinet details drawing.
Layout and cut one cabinet piece at a time to allow for the
saw blade width. Mark each piece for identification.

NOTE: Some pieces require a miter (angled) cut along
top side panels, 2 bottom side panels, and the keyboard

the sides of the panels that will NOT be covered with

Laminate all pieces (EXCEPT the 2

BEFORE making the miter cuts. Paint

= FREL D

g FAHEL H

FaMEL G

FMIIL C

r Td
T

A
o]
b Ll |
Tl |2

&'-4 §716° [T15]
e |"=10 5/L6" [56T] ==

=—1'—4" [405]—=

Il 77156

[EPL]

- B 2033

T

p@ LP“'U?
f

/
I

Shown above is sample panel layout for 25”-31” wide monitor opening.

Drill the 2” diameter hole in the sheet of wood
BEFORE cutting out the top side panels.

around the top and bottom

Step 2 Routing slot for T-molding

Using the 1/16” slot cutting router bit, cut a groove all the way
router bit in the middle of the material.

NOTE: USE A SCRAP PIECE OF WOOD TO TEST.

side panels. Be sure to center the

“ 171e* [2]
} 27167 [V]
2/78" [1e] r, i
'

Cut the 1/16” slot in the exact center of the side panels.

Cut the 1/16” slot all the way around
the side panel.

Repeat this step for each of the
top and bottom side panels.




Step 3 Cabinet bottom panel assembly

Install panel-A by measuring and drawing construction lines on both the inside and
outside of both side panels. Measure ¥2” in from the outside edge and draw a
construction line parallel to the edge. Measure 5/8” (material width) in from the
construction line and draw another parallel line. This will be the location of panel-
A. Using the measurements below, locate the center line of panel-A and drill 3
countersunk holes in each side panel. If you are using the full-sized templates,
panel-A and the countersunk holes are already located. Repeat this step on the
opposite side panel. Apply a bead of adhesive on the front edge of panel-A. Use
1-3/8” long wood screws to attach panel-A to the side panels as shown below.

Repeat this step for the opposite side panel. Be sure to countersink the holes on
the opposite side for the second side panel.

NOTE: All screw holes are to be countersunk (refer to “Countersinking Holes”).

|
1
I

]
2 18" . . 5 . !
[5qs = [——1=3 5/8 [397]—f=—1'-3 5/8' [397]1—
Locate (3) screw holes using the dimensions and Position and drill 1/16” pilot holes into Place a bead of Liquid Nails or
9 panel-A. Use 1-3/8” long wood screws similar adhesive along the front

construction lines illustrated above.

to secure panel-A to the side panels. edge of panel-A.

Step 4 Coin door panel assembly

Install panel-B by measuring and drawing construction lines on both the inside and
outside of both side panels. Measure ¥2” in from the outside edge and draw a
construction line parallel to the edge. Measure 5/8” (material width) in from the
construction line and draw another parallel line. This will be the location of panel-B.
Using the measurements below, locate the center line of panel-B and drill 3
countersunk holes in each side panel. If you are using the full-sized templates, panel-B
and the countersunk holes are already located. Repeat this step on the opposite side
panel. Apply a bead of adhesive on the top edge of panel-B. Use 1-3/8” long wood
screws to attach panel-B to the side panels as shown below.

NOTE: All screw holes are to be countersunk (refer to “Countersinking Holes”).

1]
9 1/2* [13]

[242] |
13/26°__| |
[21]

9 12t
[242]

- f

[231

Locate (3) screw holes using the dimensions
and construction lines illustrated above.

Position and drill 1/16” pilot holes into panel-B. Place a bead of Liquid Nails or
Use 1-3/8” long wood screws to secure panel-B | similar adhesive along the top edge
to the side panels. of panel-B.




Step 5 Angled front panel and keyboard drawer back plate assembly

Install panel-C and panel-D by measuring and drawing construction lines on both the
inside and outside of both side panels. Measure ¥2” in from the outside edge and draw
a construction line parallel to the edge. Measure 5/8” (material width) in from the
construction line and draw another parallel line. This will be the location of panel-C.
Using the measurements below, locate the center line of panel-C and drill 2
countersunk holes in each side panel. Use the measurements below to locate the
center line of panel-D and drill 2 countersunk holes in each side panel. If you are using
the full-sized templates, panel-C, panel-D and the countersunk holes are already
located. Repeat this step on the opposite side panel. Use 1-3/8” long wood screws to
attach panel-C and panel-D to the side panels as shown below.

NOTE: All screw holes are to be countersunk (refer to “Countersinking Holes”).

1 7/16" [371]
1 178" [29]

g8 172" [216]

1 1747 [32]

¥
172" [13]
13716 [21]

A: 1/2* 1131
fL C2 174" [571

Locate (4) screw holes using the dimensions and construction lines

illustrated above.

Position and drill 1/16” pilot holes into panel-C and panel-D. Use
1-3/8” long wood screws to secure panel-C and panel-D to the
side panels.

Step 6 Keyboard drawer assembly

Assemble panel-E and panel-F by measuring and drawing construction lines on both the
inside and outside of panel-E. Use the measurements below to locate the center line of
panel-F and drill 2 countersunk holes in panel-E. If you are using the full-sized
templates, panel-E, panel-F and the countersunk holes are already located. Use 1-3/8”
long wood screws to attach panel-E and panel-F. Attach the laminate to the outside of
panel-E (refer to “Installing Laminate™). Secure the drawer glide rails to the keyboard
drawer as shown below. The rails should be flush with the rear edge of the keyboard
drawer. Install key lock on panel E using the instructions provided with the locking
mechanism.

NOTE: All screw holes are to be countersunk (refer to “Countersinking Holes”).

o2/8"
[1&]

17-10 3/4° [578]
172" 12— =—
[e———1"-8 374" [G27]———

° 231 1

2 13/167
[72]

° |

2 12

[54]

Locate (2) screw holes using the dimensions and
construction lines illustrated above.

Position and drill 1/16” pilot holes into Secure the drawer glide rails to the
panel-F. Use 1-3/8” long wood screws to keyboard drawer using ¥2” long wood
secure panel-E to panel-F. screws.




Step [ Keyboard drawer slide installation

Locate the keyboard drawer slides on the inside of the side panels using the
measurements below. Due to the variations in designs, the exact position of the drawer
slide rail will need to be determined during assembly. Secure the slide rails using 2"
long wood screws as shown. Install the keyboard drawer assembly.

i
3 11/16° [94] —1"-2 Sr/8* [3721—ﬂ
i

| ——

EOTTOM EDGE
OF KEYEBOART
DRAWER

Locate (2) screw holes using the dimensions and Attach outside slide rails using ¥2” long Install kevboard drawer assembl
construction lines illustrated above. Y Y-

wood screws as shown.

Step 8 Rear panel assembly

Install panel-G by measuring and drawing construction lines on both the inside and
outside of both side panels. Measure ¥2” in from the outside edge and draw a
construction line parallel to the edge. Measure 5/8” (material width) in from the
construction line and draw another parallel line. This will be the location of panel-G.
Using the measurements below, locate the center line of panel-G and drill 2 countersunk
holes in each side panel. If you are using the full-sized templates, panel-G and the
countersunk holes are already located. Repeat this step on the opposite side panel.
Apply a bead of adhesive on the top edge of panel-A. Use 1-3/8” long wood screws to
attach panel-G to the side panels as shown below.

NOTE: All screw holes are to be countersunk (refer to “Countersinking Holes™).

c 9/16"
(641

L

&
|
[
b

!

13/18” [81]—‘

ek

L L1317 2 116"

(=21
/e [13)—= =
Locate (2) screw holes using the dimensions and Place a bead of Liquid Nails or similar P::étlm_g aLrJ]ged:[l—"3}8/’]'-‘I5c:nplI\?\/togglesirlgvtvos
construction lines illustrated above. adhesive along the rear edge of panel-A. P . gw
to secure panel-G to the side panels.




Step O Rear panel assembly

Install panel-H by measuring and drawing construction lines on both the inside and
outside of both side panels. Measure ¥2” in from the outside edge and draw a
construction line parallel to the edge. Measure 5/8” (material width) in from the
construction line and draw another parallel line. This will be the location of panel-H.
Using the measurements below, locate the center line of panel-H and drill 2 countersunk
holes in each side panel. If you are using the full-sized templates, panel-H and the
countersunk holes are already located. Repeat this step on the opposite side panel.
Apply a bead of adhesive on the top edge of panel-G. Use 1-3/8” long wood screws to
attach panel-H to the side panels as shown below.

NOTE: All screw holes are to be countersunk (refer to “Countersinking Holes”).

11 3/74* [298]

1727 [13]
13/16" [21]

1" [23]

Locate (2) screw holes using the dimensions and

construction lines illustrated above.

Position and drill 1/16” pilot holes into
panel-H. Use 1-3/8” long wood screws to
secure panel-H to the side panels.

Place a bead of Liquid Nails or similar
adhesive between panel-H and panel-G.

Step 10 Monitor shelf assembly

Install panel-l by measuring and drawing construction lines on both the inside and
outside of both side panels. Using the measurements below, locate the center line of
panel-l and drill 2 countersunk holes in each side panel. If you are using the full-sized
templates, panel-l and the countersunk holes are already located. Repeat this step on
the opposite side panel. Use 1-3/8” long wood screws to attach panel- to the side panels
as shown below.

NOTE: All screw holes are to be countersunk (refer to “Countersinking Holes™).

, —= 2" [31]
n <ol 2 5,167 [59]
13716" [24] [
J_th_ 378" 6] -— Lz
T Eﬁl [50] i [13]
f N e
| |2 01t
]
Position and drill 1/16” pilot holes into panel-1.
Locate (4) screw holes using the dimensions and construction lines illustrated above. Use 1-3/8” long wood screws to secure panel-I1
to the side panels.




Step 11 wmonitor shelf assembly

Install panel-J by measuring and drawing construction lines on the top of the monitor
shelf panel. Using the measurements below, locate the center line of panel-1 and drill 6
countersunk holes in panel-J as shown below. If you are using the full-sized templates,
panel-l, panel-J and the countersunk holes are already located. Apply a bead of adhesive
on the top edge of panel-l. Use 1-3/8” long wood screws to attach panel- to the side
panels as shown below.

NOTE: All screw holes are to be countersunk (refer to “Countersinking Holes”).

5/16°

f

1" 4[251—-| — |

— 9 1/2" [242] =

1I'-& 1/16° [458]—

[~

1" (251
9 1/2" [24&]

1'-6 1/167

[4581

Locate (6) screw holes using the dimensions and

construction lines illustrated above.

Place a bead of Liquid Nails or Position and drill 1/16” pilot holes into the side
similar adhesive along the top panels. Use 1-3/8” long wood screws to secure
edge of panel-I. panel-J to the side panels.

Step 12 Frinishing the assembled base

Turn the assembled cabinet base on one side. Attach the laminate to the side of the
cabinet (see “Installing Laminate”). Install the T-molding starting under the rear of the
monitor shelf as shown below. Use a razor blade to cut v-shaped notches in the T-
molding around outside and inside corners. Turn the cabinet assembly on the opposite
side and repeat this step for the opposite side.

NOTE: Injury may occur if attempting to complete this step without assistance. This is a
reminder to never assemble your Ultimate Arcade cabinet without assistance. Remove
the keyboard drawer assembly FIRST.

Install the T-molding starting under the rear of the Use a razor blade to cut a v-shaped
monitor shelf. The T-molding will end under the control notch in the T-molding at the outside

panel.

Use a razor blade to cut slits in the

—— T-molding at the inside corners.




Step 13 Top side panel assembly

Install the top side panels by measuring and drawing construction
lines on the outside of both bottom side panels. Using the
measurements below, drill 6 countersunk holes in each side panel. If
you are using the full-sized templates, the top side panels and the
countersunk holes are already located. Repeat this step on the
opposite side panel. Use 1” long wood screws to attach the top side
panels to the assembled base.

NOTE: Injury may occur if attempting to complete this step without
assistance. This is a reminder to never assemble your Ultimate
Arcade cabinet without assistance.

NOTE: All screw holes are to be countersunk (refer to
“Countersinking Holes”™).

A -0 3/4* [323]

— | — ]

£'-3" [686]

=8 1/8% [S11]

2 13/10" |
[7el

5 S/16* [128]

f—ed 5 5718 [125]

# 15167 2 1/8" [541

[F=EET]

f—Ll—2 7/8° [377]—=

Using the measurements above, draw contruction
lines where the top side panel will be attached.

Locate (6) screw holes using the
dimensions and construction lines

Use 1” long wood screws to
secure the top side panels to the

illustrated above. base assembly.




Step 14 Top panel assembly

Install panel-K by measuring and drawing construction lines on both the inside and outside
of both side panels. Measure %2” in from the outside edge and draw a construction line
parallel to the edge. Measure 5/8” (material width) in from the construction line and draw
another parallel line. This will be the location of panel-H. Using the measurements below,
locate the center line of panel-K and drill 2 countersunk holes in each side panel. If you are
using the full-sized templates, panel-K and the countersunk holes are already located.
Repeat this step on the opposite side panel. Use 1-3/8” long wood screws to attach panel-
K to the side panels as shown below.

NOTE: All screw holes are to be countersunk (refer to “Countersinking Holes”).

10 5/16” [2621]

8 o5/16” [211]

1" [25] o
1 1/2" [38]ﬂ - | |
;_(37"7’7i7( ‘
1
172" 13/16"

[131 a1l

Locate (2) screw holes using the dimensions and construction lines

illustrated above.

Use 1-3/8” long wood screws to secure the top side panels to
the base assembly.

- 10 2/ L'-9 117167
2581 [5511

1/2° 131
10 3/16°
13716 [201

11/1e

[171

Step 15 Top angled panel assembly

Install panel-L by measuring and drawing construction lines on both the inside and outside
of both side panels. Measure ¥2” in from the outside edge and draw a construction line
parallel to the edge. Measure 5/8” (material width) in from the construction line and draw
another parallel line. This will be the location of panel-L. Using the measurements below,
locate the center line of panel-L and drill 3 countersunk holes in each side panel. If you are
using the full-sized templates, panel-L and the countersunk holes are already located.
Repeat this step on the opposite side panel. Use 1-3/8” long wood screws to attach panel-L
to the side panels as shown below. Apply a bead of adhesive between panel-K and panel-L
as shown below.

NOTE: All screw holes are to be countersunk (refer to “Countersinking Holes”).

Locate (3) screw holes using the dimensions

and construction lines illustrated above.

Apply a bead of adhesive between panel-K
and panel-L as shown.

Use 1-3/8” long wood screws to secure
panel-L to the side panels.




Step 16 Top rear panel assembly

Install panel-M measuring and drawing construction lines on both the inside and outside of
both side panels. Measure %2” in from the outside edge and draw a construction line
parallel to the edge. Measure 5/8” (material width) in from the construction line and draw
another parallel line. This will be the location of panel-M. Using the measurements below,
locate the center line of panel-M and drill 2 countersunk holes in each side panel. If you
are using the full-sized templates, panel-M and the countersunk holes are already located.
Repeat this step on the opposite side panel. Use 1-3/8” long wood screws to attach panel-
M to the side panels as shown below. Apply a bead of adhesive between panel-L and panel-
M as shown below.

NOTE: All screw holes are to be countersunk (refer to “Countersinking Holes”).

rl” (231

}

1/2° [131—

[

107 [2341 1° [3031 . -

12/16% [211—| |— >\

————f-—p5

Locate (2) screw holes using the dimensions Use 1-3/8” long wood screws to secure Apply a bead of adhesive between panel-L
and construction lines illustrated above. panel-M to the side panels. and panel-M as shown.

Step 17 Speaker panel assembly

Install panel-N measuring and drawing construction lines on both the inside and outside of
both side panels. Measure ¥2” in from the outside edge and draw a construction line
parallel to the edge. Measure 5/8” (material width) in from the construction line and draw
another parallel line. This will be the location of panel-N. Using the measurements below,
locate the center line of panel-N and drill 2 countersunk holes in each side panel. If you are
using the full-sized templates, panel-N and the countersunk holes are already located.
Repeat this step on the opposite side panel. Use 1-3/8” long wood screws to attach panel-
N to the side panels as shown below.

NOTE: All screw holes are to be countersunk (refer to “Countersinking Holes”).

**Rear Panels not shown for clarity**

7 15/16"

S 15/167

1 1/2" 1381

1727 [13]
13/1e” [21]

B

Locate (2) screw holes using the dimensions and

SeTETuEEm fnes veizEies 2. Use 1-3/8” long wood screws to secure panel-N to the side panels.




step for the opposite side.

cabinet without assistance.

Step 18 Finishing the assembled cabinet

Turn the assembled cabinet base on one side. Attach the laminate to the
side of the cabinet (see “Installing Laminate”). Install the T-molding
starting in the middle of the rear edge of the top side panel. Use a razor
blade to cut v-shaped notches in the T-molding around outside and inside
corners. Turn the cabinet assembly on the opposite side and repeat this

NOTE: Injury may occur if attempting to complete this step without
assistance. This is a reminder to never assemble your Ultimate Arcade

Install the T-molding all the way around the top
side panel. Start in the middle of the rear edge of
the top side panel.

Use a razor blade to cut a v-shaped notch
in the T-molding at the outside corners.

Use a razor blade to cut slits in the T-
molding at the inside corners.

Step 19 wMarquee assembly

Secure the fluorescent lighting fixture to the inside top of the arcade cabinet using %2” long
wood screws. Position the lighting fixture approximately 3” in from the marquee (See
diagram below). Place the marquee in between the two pieces of plexiglas. Position the

J i: plexiglas flush with the top panel and speaker panel. Secure the marquee assembly using

= T H 7
=. the marquee retainers and %2” long wood screws as shown below.

Secure the fluorescent lighting fixture to the
inside top of the arcade cabinet using ¥2” long
wood screws.

Place the marquee in between the two
pieces of plexiglas.

Secure the marquee assembly using the
marquee retainers and ¥2” long wood
screws




Step 20 Bezel frame assembly

Install panel-O measuring and drawing construction lines on the inside of both side panels.
Measure 5/8” in from the outside edge and draw a construction line parallel to the edge.
Measure 1” in from the construction line and draw another parallel line. This will be the
location of panel-O. Secure panel-O to the side panel using 3/4” long wood screws. Repeat
this step on the opposite side panel.

Install panel-P between panels-O and secure panel-P using 3/4” long wood screws as shown
below. Secure panel-Q (Top bezel frame — Not shown) to panel-N (Speaker panel) between
panels-O using %2” long wood screws.

If you are using the full-sized templates, panel-O and panel-P are already located.

1 [E3]

/87 [18]

Locate panel-O using the dimensions and Secure panel-O to the side panel using (3) Secure panel-P to the monitor shelf
construction lines illustrated above. 3/4” long wood screws. panel using (3) 3/4” long wood screws.

Step 21 wmonitor and bezel assembly

The bezel frame panels may have to be temporarily removed if the monitor is too wide.
Center the monitor within the cabinet and position it as close as possible to the front of
the cabinet. The monitor should be secured in some fashion (Due to the various
shapes and base dimensions, this could not be included in this document.) Position the
plastic bezel frame (may have to be trimmed to fit within cabinet). Place the plexiglas
bezel over the plastic bezel frame. Using the measurements below (W = Monitor area
width), drill 1/8” diameter pilot holes through the plexiglas and bezel frame. Secure
using ¥2” long wood screws.

NOTE: Plastic bezel frames may not be offered for larger monitors.

SAGT (| TW-SAETE | CW-SIB004 | (W-5ABTA | W-5/B4
g .
[e1 C-LED/4 | (V-TI61/4 | Cw—[16TA4 | (w-[leDn4 316

FALAT- M)

AT

FALAT-M0

LR EET VI P POTTUNR PRSPt W PRy SN

AT

Install the monitor, bezel frame and Use the measurements shown to drill 1/8” pilot Use %2” long wood screws to secure
plexiglas bezel as shown above. holes in the plexiglas bezel and bezel frame. the bezel and bezel frame.




Step 22 Install control panel brackets

Locate (4) I-brackets flush with the top edge of the side panel. Secure I-brackets using
14” long wood screws.

Step 23 Coin door installation

Install the coin door assembly using the installation instructions that ship with the coin
door.

For Technical Support or questions:

Please send inquiries to:
info@cybertechdesign.net

CyberTech Design
www.cybertechdesign.net




Ultimate Arcade - Control Panel

Bring all the entertainment of an entire video arcade home. Play thousands of your favorite
arcade and console games with one arcade game control panel. The Ultimate Arcade Control
Panel features 4-player controls, trackball, and spinner.

ULTIMATE ARCADE CONTROL PANEL PLANS ORDER INFORMATION

—————— — Illustrated Step-By-Step Plans
‘ The step-by-step construction plans contain several
— illustrations and instructions for each step. These detailed
| [ plans make building your very own arcade cabinet quick and
h simple, even for the novice wood worker!

; ’ Plans include:
== == - = -Material and equipment list for control panel
e -Detailed cutout dimensions for all panels
| -General wiring instructions & schematic

I = - Ty .

AL amH
Lo L

. ol sm
Full-size cutout templates i Tliaad i
Save time and money by using full-size cutouts for the
cabinet panels. No measuring required and no costly

mistakes. Just glue, tape, or trace the templates onto the e
wood material and cut. L

Ultimate Arcade Control Panel Product Specifications

The Ultimate Arcade Control Panel is available in four different sizes to accomodate different cabinet sizes.
The size of the cabinet is determined by the monitor area width.

{WIDTH} = Monitor area width (25", 27", 29", or 31")

| Control Panel Width: | {WIDTH} + 1'-9 7/16" [545 mm]

| Control Panel Height: | 5 1/2" [140 mm]

| Control Panel Depth: | 1'-5 11/16" [449 mm]

ULTIMATE ARCADE CONTROL PANEL ORDERING INFORMATION

For more information, please visit:
www.MameRoom.com




Uitimate dccsde I1°

The Ultimate Gaming Experience

Bring all the entertainment of an
entire video arcade home!

Play thousands of your favorite arcade and console games
in one arcade game cabinet. Ultimate Arcade Il features a
unique, two-piece construction, slide-out keyboard
drawer, and a backlit marquee. The Ultimate Arcade 11 is
designed to use a standard computer monitor or
television...also fits SlikStik and X-Arcade (With base)
brand control panels.

Shown with an Ultimate
Arcade control panel

ULTIMATE ARCADE Il PRODUCT INFORMATION

=== lllustrated Step-By-Step Plans

| The step-by-step construction plal

Shown with a SlikStik control
panel

ns contain several

L= . prer——— : (1L - : _| illustrations and instructions for each step. These detailed

I " | J-k | . 4 simple, even for the novice wood

plans make building your very own arcade cabinet quick and

worker!

e e = . Plans include:
[(Es | -Material and equipment list for cabinet
' -Detailed cutout dimensions for all panels
AL pcasen ; | -Panel layout for optimized material cutting
T 1
1 = { : | |
e pEa e

Full-size cutout templates

Save time and money by using full-size cutouts for the
cabinet panels. No measuring required and no costly
mistakes. Just glue, tape, or trace the templates onto the
wood material and cut. L

Ultimate Arcade 11 Product Specifications

The Ultimate Arcade Il cabinet is available in four different sizes to accomodate different monitor sizes.
{WIDTH} = Monitor area width (25", 27", 29", or 31")

Cabinet Width (No Control Panel): | {WIDTH} + 1 1/2" [38 mm]

Cabinet Depth (No Control Panel): | 41 1/2" [1054 mm]

Overall Cabinet Height: | 75 7/16" [1916 mm]

Monitor Area Width: | {WIDTH}

Monitor Area Height: | 24 13/16" [630 mm]

Monitor Area Depth: 20 7/16" [519 mm]

X-Arcade Compatible (Requires additional base): Fits 25",27",29" & 31" cabinet widths

SlikStik Fighte r Compatible: Fits 25" and 27" cabinets widths ONLY

SlikStik Co2 Compatible: Fits 25",27",29" & 31" cabinet widths

SlikStik Quad Compatible: Fits 25",27",29" & 31" cabinet widths

SlikStik Classic Compatible: | Fits 25" and 27" cabinets widths ONLY




Ultimate Arcade | «

Bring all the entertainment of an entire
video arcade home. Play thousands of your
favorite arcade and console games in one
arcade game cabinet. Ultimate Arcade |
features a classic arcade design, custom 2-
player control panel, slide-out keyboard
drawer, and a backlit marquee. The
Ultimate Arcade | is designed to use a
standard computer monitor or television.

ULTIMATE ARCADE I PRODUCT INFORMATIO

B Hens ; lllustrated Step-By-Step Plans
Bi= s . The step-by-step construction plans contain several
— ; = i illustrations and instructions for each step. These detailed

plans make building your very own arcade cabinet quick and
simple, even for the novice wood worker!

Plans include:
s -Material and equipment list for cabinet
g -Detailed cutout dimensions for all panels
2 I : -Panel layout for optimized material cutting

Full-size cutout templates l '

Save time and money by using full-size cutouts for the
cabinet panels. No measuring required and no costly
mistakes. Just glue, tape, or trace the templates onto the
wood material and cut. =

.-|- P

The Ultimate Arcade | cabinet is available in two different styles to accommodate third party control panels.

Cabinet Width: 26 3/8" [670 mm]

Cabinet Depth: 38" [965 mm]

Overall Cabinet Height: 75 3/8" [1915 mm]

Monitor Area Width: 25" [635 mm]

Monitor Area Height: 22 13/16" [579 mm]

X-Arcade Compatible: Requires additional base

| Monitor Area Depth: | 19 1/16" [484 mm]

SlikStik Classic Compatible: YES
SlikStik Fighter Compatible: YES
SlikStik Co2 Compatible: YES
SlikStik Quad Compatible: YES




Ultimate Arcade
Cockpit

Play thousands of your favorite
arcade and console games in one
arcade game cabinet. lllustrated
step-by-step plans to build the
Ultimate cockpit and driving
cabinet. Plans include cabinet and
optional seat assembly.

ULTIMATE COCKPIT PLANS ORDER INFORMATION

= - lllustrated Step-By-Step Plans

The step-by-step construction plans contain several
illustrations and instructions for each step. These detailed
plans make building your very own arcade cabinet quick and
simple, even for the novice wood worker!

jr= Plans include:

-Material and equipment list for cabinet
-Detailed cutout dimensions for all panels
-Panel layout for optimized material cutting

e e e | ey

Full-size cutout templates

Save time and money by using full-size cutouts for the
cabinet panels. No measuring required and no costly
mistakes. Just glue, tape, or trace the templates onto the
wood material and cut.

Ultimate Cockpit Product Specifications

Cabinet Width: ’ 33 1/4" [845 mm]

Cabinet Length: ’ 81 1/4" [2064 mm]

Cabinet Height: ‘ 57 9/16" [1462 mm]

Monitor Area Height: ’ 24 5/8" [625 mm]

‘ Monitor Area Width: ‘ 32" [813 mm]

Monitor Area Depth: ‘ 24 7/16" [621 mm]

ULTIMATE COCKPIT ORDERING INFORMATION

For more information, please visit:
www.MameRoom.com




Virtual Music Jukebox
SS——

Build your very own digital jukebox!

Play thousands of your favorite digital music and video files in this
unique, slim wall- mount jukebox.

VIRTUAL MUSIC JUKEBOX PRODUCT INFORMATION

] lllustrated Step-By-Step Plans
- The step-by-step construction plans contain over 200
" illustrations and instructions for each step. These detailed
" plans make building your very own jukebox quick and
simple, even for the novice wood worker!
e _,_.-« — — -
i | Plans include:
= g -Material and equipment list
a | ey -Detailed cutout dimensions for all panels
- === -Panel layout for optimized material cutting
= e : = | o -Electrical wiring
- H fre={ -Wall mounting instructions
g { [ | 9
= — s S = = |
! -
Full-size cutout templates R PO =it g SR
Save time and money by using full-size cutouts for the il E %; U
cabinet panels. No measuring required and no costly i
mistakes. Just glue, tape, or trace the templates onto the
wood material and cut. L ——

Virtual Music Jukebox Product Specifications

Cabinet Width (W/0O T-Molding): 1'-4 7/8" [429 mm]

Cabinet Depth (W/O T-Molding): 10 7/16" [265 mm]

15" Flat Panel LCD

Side door entry

Cabinet Height (W/O T-Molding): | 3'[914 mm]
PC Access: |

‘ Monitor Size

VIRTUAL MUSIC JUKEBOX ORDERING INFORMATION

For more information, please visit:
www.MameRoom.com




